Station 1
Are these lines parallel, perpendicular, or just intersecting?
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4.  All vertical lines are parallel to what type of line? _________________

5.  All vertical lines are perpendicular to what type of line?  ____________

6.  What is the slope for all vertical lines? __________ horizontal? ______

7.  If two non-vertical lines are perpendicular, what do you know about the slopes?  ___________________________________

Station 2
1.  Write a line parallel to y = -3x + 2 and passes through (-2, 3)

2.  Write a line parallel to 2x + 5y = 15 and passes through (-1, -3)

3.  Write a line perpendicular to 6x + 2y = 24 and passes through (2, 5)

4.  Write a line parallel to y = 2 and passes through (3, 1)

5.  Write a line perpendicular to x = -2 and passes through (-7, -6)

Station 3
1.  Circle & describe the error. Then write the correct steps.
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b.  2(x + 3) = -3(-x + 1)
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2x + 6 = 3x – 3 


  6x + 5 = -2





5x + 6 = -3


        6x = -7





      5x = -9



x = -7/6




        x = -9/5

2.  4(-3x + 1) = -10(x – 4) – 14x 


3.  –4(3 + x) + 5 = 4(x + 3)

4.  
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Station 4  
Solve and graph the inequalities.

1.  3(4x – 5) < 8x + 3

2.  2 – 4x ≤ 0


3.  –2 < 2x – 5 < 3

4.  x – 4 ≤ 2  or  x – 4 ≥ 12

5.  –9x > -81   and   2(x + 6) > -4 
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